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Training Sefection Syllabus
tipr Basic Air Traffic Services {ATS) Training Course

Node of Examigation
General Knowledge, Psychometric Assessment, English Test, Interview
and Medical Check up
Scheme of Examination
o 1
5. Paper Subjeet Full Pass Mode of Questions x | Time
™. Marks | Marks Question Marks
| First General 50 | 20 Olsjective; 50% 1=50 45
Knowledge . Muttiple minwes
: Choice
el Second | Psychometric 50 20 Objective; 25x2=50 30
Asgegsment Muitiple minubes
Choice
3 Third Enpglish Test 50 20 Subjective 1=x20=20 1:30
: 5x3 =13 s,
t=x15=135
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tdode of Examination

s eneral Knowledge, Euplish Paper, Psychometric Assessment, Interview and Medical
I »smination

General Knowledge (Objective Questions) 50x1= 50 marks {45 minutes)

1. General knowledge

2. Physical and natoral aspects of Nepal

3. Papulation and migration of Nepal

4.  History of Nepal

5, National luminaries of Nepal

§.  Characteristics of plural society and Nepali society in that context

7 Social, cconomic, cultural conditionfcosiume of various ¢thric groups & other
communities of Nepal

8. General knowledge on Aviation

4. Chronological development of Nepal Aviation,

iU. Good-govemance & Civil soctety

i1, Chamcteristics of Nepali economy

2. Globalization and Nepal ’

13, Science, techoology and current affairs

i4.  Regional organizations (SAARC, ASEAN, European Union, BIMSTEC)

5. United Nation and itz subsidiaries,

16.  Environment and sustainable development

17.  Gender equality and Gender equity

18. Human Rights and commitment of Nepal

gychomelric Assessipent
it mearks (30 minvtes)

1. Verbal RBeasoning Test 20
2, Numerica] Reasoniog Test 20
3. Wor-Verhal Reasoning Test 10
#nolish Test {(Sebjective Questions) 50 marks (1:30 hrs)
f, Essay Writing {around 250 words) 20
2. Comprebension 15
3. Trenslation from Nepali into English 15
sigurview 25 marks

Adedien) Examination Class -3 Medical assessment
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{eneral Knowledge:

1. General Knowledge:

Composition of the earth
Ocean

Continent & Geographical Arca
Latitude & Longitude
Coontinental shift

Internations] date ling

Trade wind, monsoon
Internationa] time

Solar/Lunar eclipse

General knowledge on universe

S N NN AR NE NN

2, Physma] and natzral aspect of Nepal
Impact of geographic condition of Nepal oo its national economy
v’ Difficulties and challenges of landlocked country

3. Population and inigration of Nepal

4, History of Nepal
v Contribution of various Royal Dynasties (i.e., Kirant, Licchhavi, Mall,
Baise/Chaubise states, Culiure of Simroumagadh and other stnall states and
Shah) to the development of cultural and religious rradition on Mepal
+  Constiutdon of Nepal 2072 and constitutional development,

5. National luminaries of Nepal
6. Characteristics of plural society and Mepali saciety in that context

7. Social, economc, cultural condition/custom of various ethnic groups & other
communities of Nepal
v General latowledge on social condition
v Chalienges and prospects on initiatives for the uplifiment of various
socially backward ethnic groups and communities of Nepa)
¥ Social security to wormen, children and helpless people
v Challenges and prospects of reform initiatives for social change

8. General knowledge on aviation

9. Chronological development of Nepsl aviation
¥ Historical development, prospecis and chellenges
¥ Role of air wansportation in Nepalt economy
v Civil Aviation Policy of Nopal
¥ Towrism Policy of Nepal

10. Good governance & Civil society
v Concept & fundamental elements
v Concept of civil Society
¥ General knowledge on citizen chaster
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14,

16,

it

18

- Characteristics of Nepali economy

Initiatives for planned sconomic development in Mepal,
¥ Current periodic pien, objectives and priorities, major policies and
strategies, resource mobilization and resource allocation,

¥ Tourism and civil aviation in current plan

¥ Concept of privatization i Nepal

¥ Privatization in operation

¥ Concept and role of development region for economic development
. Globalization and Nepal

v Trade -

v Foreign investment
¥ Foreign aid
v Internations! financial institates in economiic development of Nepal

. Science, technology and current affairs

¥ Some renvwned scientists of world and their contributions
¥ Genenal knowledge on information technology, appropriate
technotogy, aliemative technology and its application

Regional organizations (SAARC, ASEAN, European Union, BIMSTEC)

. United Nation aod its subsidtavies

¥ Role of Mepal in UN and regional organizations

Environment and sustainable development
v Coneept, mporfance and relevance of sustainable development
¥ Environment related problems

Gender equality and gender equity
v The difference between gender equality and gender equity

Human rights and commiiment of Nepal
¥ Fundamental aspects of human rights
¥" UN charter op human rights
v Commitment of Nepal to human rights
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5Siempie questions

I

What is the main slogan {motta) of Nepal Tourlsm Year2011?
a)  Togsther for tourism ¢) Tourist for sl
by  Tourism forever o) Together for tourist

The focus point tnside the Barth from where sarthquakes is originated is cafled

2 Galactic center c) Hypocenter
b) Epicenter d) None of above
Nepal adopted liberal aviation policy in .ovveeriv e covien AD,

a} 1932 ¢) 1996

b) 1994 dy 1998
Which one of the following is related with WTO?

8) SAPTA ¢} TRIPS

b} BIMSTEC d) BAFTA
The real GDP growth rate of Nepal in FY 2008/09 was ... percent.
ay 3.0 ) 4.0

b 35 & a5

Which ong of the fallowing orders is cotrset according to geographical location
ranging from East 1o West?

a)  Kanchanjangha, Makalu, Saganmatha, Annapurna, Manasly

by  Makalu, Lhotse, Annapumg, Manasly, Dhaulagiri

¢)  Kanchanjangha, Segermatha, Makaly, Manash, Anospurmea

d) Makalu, Lhotse, Manaslu, Annspuma, Dhaulagiri

The lowest administrative unit was said tobe ..ocvooennians ... in Lichachhayi

period, whose administrative chief was called ..o.vvveevrsieeeene

a) Gram - Pradhan o) Dranga -Kuther

b}  Tal-Talsing <} Bishaya — Bishayapati
5




£nglish Test
i .Lassy Writing

Sample question:
Write an essay of about 250 werds explainiog the role of civil aviation in tourism,

. Comprebension

Sample question:
Read the following passage and answer the questions below:

The development of the gpace shuitle has dramatically reduced the cost of sending loads
into space. The shuttle takes off from Barth fike a rocket, and land again like an aircraft, It
v trangport not only its own crew. but also, passengers and pass a huge cargo-hold which
15 capable of carrying largs satellites or a space laboratory,

ljefove the space shuttle was created. it was necessary to plan trips into space several years
!advance. However, for the rest of the century, it should be possible to make space {lights
evety week ot so. Any scientist or engineer ngeding travel onto orbit will simply take the
next shuttle flight stay as long & necessary and then return at his or her convenience.

It i3 difficult to imagine the immense opportunities created by the shuitle. One of the great
advantages of having a reusable space vehicle is that if can take one load afler another into
wibit, Very large space stations could not be launched in fheir complets form disectly from
earth. but they could be built piece by pisce in space. The space shuttle in likely to be used
as genersl ‘workhorse' for the rest of the century and the building of such stations in orbit
shonld become common place. :

(nee these huge orbiting space stations are completed. they are likely to become the
pinforms fiom which hundreds of robot space ships could be launched cheaply and casily
10 explore the solar system and to start mining operation on the Moon. The tectmology
needed for this is alteady developed and availeble. Anand bacause of commercial and
military pressures to developed space technology. it is likely that governments will be
increasingly willing to start extensive programumes of space engineering explaration and
research,

Chestions:
a) What is space shuttle and how does it work?
) How has the shuttle made spage travel easy?
c) What are the main advaniages of reysable space shuttle?
) How can the space platforms be used?
) For what purposes are the space stations likely to be used by the governments?
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3. Fransiation from Nepali into English
Sample Question

Farest FFafew wiage 053 FF W qv aied TRy sl A el
G| ST orfeden S8 gaTr UeeTeE wq @iy aise 9T At garhv
aﬁ:ﬁmw&ﬁﬁwﬁranmwmﬁnﬁm?ﬁﬁmﬁmm
= R aEd g e | 99Wl ¥ UR WA SREmy g, |
WEEARTH W AUGH AT T GE ATAE GV | Tl bt 9ol
fafer esuirae aTUR 3 TG 1 sTemEe wautie oRmesr e
v B ge |

T wITe AR HTE HUEEW AR SRBRE JEUTE IS an
WA T A W, mee afierdl e Y mfeead e Ry
TET WY FETERE W At avar iy W, aee i s
WHATE ATISAAl FRATE wAGH T KR, REE ofeR et ymR g T
T AN TG TEE TA AT THE B

AT T woiTe PIAes W dusre Amaeean d9 ared fe
aﬁwﬁammﬁanm%wmmmmm
TGS TERATE 0 ARG B A AR S anpe e @
oAy wERESY T sfERE YA gER e TRaw far wed
mmmﬁﬁmmmmmmw
I TRGA TES ANATET KA T WING € Te AR aeiaHer

T TR %Y AfEe aEE %7 FMead T W el 1 Aed
sy IetaEe ffey wewarg afrff Remew aos o’ky Bm a= g




Zzychometric Assessment

Spme Characteristics
o Swmessful pecupation

Quick with Numeric computation and mathematics
" Decision making skills and process

Excellent shori-letm memory

Visual memory abilities

Degree of situation awareness

Excellent hearing and speaking skills

o ® ® a9 B &

1. Verbal Reasoning Test - 20

1.1 Series

1.2 Anglogy

1.3 Classification

14 coding-Decoding

1.5 Direction sense {est

i.6  Assertion and Reason
L7 Simaiion Reaction Test
L8 Courses of action

2. Numerical Reasoning Test 20

21 Series

22 Auslogy

23 Classification

24 Coding-Decoding

25 Height & Distance

26 Arithmetical Reasoning

3. Non-Verbal Reasoning Test L]

3,1 Series

32 Analogy

3.3  Classificetion
34 ‘Water images
35 Magix -




Sampte questions :

1. Verbal Ressoning Test

1.1 Series
Directions: In ssch of the fullowmg questions. various tesins of an alphabet

3eries are given with one or more tarms mssing as shown by {7} Choose the
misstng terms ouf of the gwers allemail?es '

B MNOLR!V‘?

{ay A (BME - (oF {4 H {e)Z
T ZSWOTEQG?L? )
. C@NC N D ©0.C {1 0.D
3 Bedf*hj?L

(ayim (bymi {clin . (dijm

4  AB,DEF HIK,?STUVWX
(@ LMNO  (b) LMNOP {o} MNQPQ @) QRSTTY

5 ALBJCK,?
' ¢a) DL (b} DM ) GR (d) LM
6 AZ GT.MN, ,YB
(I8 - ) SH (c) SK {4} TS
Apiw o -
1. {b): Ths given sequence is 2 combination of twa serfes |
LMORV and ONLLY?

HAIRIIR MR

Thepatterminlis : M2 0 2, R 24, ¥
Thepaternin T is:N =2y L 3y —2, ®)

So, the missing letter iz E.
2. {a.) The given sequencs is & comhination of two serfies :
LZW,T1.0Q? and  BSaOXG?

The pattern in Tis: Z 2y W —Ly T —doy § —3 (N
‘f‘hepnlzeruiaﬂi:is-—"-to K 25 § -2 (O

3. (a) : The series may be divided into groups as showru :

bed/f217{%1 3

Clearly in thé first group, the second and third lettecs are respectively ;

three ind two steps shead of the first lever. A smﬁar petiern would
follow in the secpnd and third proups.

4. {c):  The number of letters in the terms of the piven ceries increases by
one at each sten. The first letter of each teem is two steps ahead of the last
lester of the preceding termi. However each cerm consists of consecative
letters in order.

®

............. e T 0 0 A, T L e S DR Y SR AT B
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6. (B)-

1.2

(a) Plane {b) Trock {c) Engine . {d) Ansomobile
2. Moon : Satellite ;: Banth : 7 T
{2} Sun {b) Planct {c) Solar systesm  (d) Ascroid
3. Laugh:Joy::Weep:? o N :
ta) Grief (b} Remorse {¢) Bahy (&) Punishment
4,  Gvod:Bad:: Virme:"? _ :
{a) Blame {b) Sin . (£) Despair - {d) Vice
5. Mel; Liqu¥i: ; Freeze: ? _
(a) fee ) Cnudmse (¢} Sofid {d) Crystal
6. . Foar:Threat:: Anger:? —_— :
{2) Compulsion {b) Panic * " {c) Provocation * (d) Force
7. Doctor is relsted to patiznt in the same way as Lawyer is relaied
L VR
(a) Customer (b} Accused (v} Magistraie  {d) Client
1 Happmcss is relatad to Sorrow in the same way asCommsre}amd
0 ... ...
(2) Hardship  (b) Rest (c;. Poverty : (d} Difficolty
Answers
1. {c}: Foodis processed by the ‘iomach 1o provide energy for functioning
of the body. Similarly, foel is processed by the engine w pmvide
energy for the fimestoning of automabile.
2, {b}:. Moon is a satellite and earth is & planiet.
3. {»): First indicates the second.
4, {d}: The words in cach pair are antanyms of each other. :
5. je}: Second is the physical stale phtaified - as & result of the pmcess.-
" donoted by the first. '
6. 4c):  First arises from the second.
7. (6): First works for and carns from the second.
8. ia): The words in each pair are antonyms of cach other.

L tad:

Istletier ; A -t B ey 2y (I1t

Pietter 1 ] —25 ) 2y K iy (L)

Istiener : A —f Gy M —2, (8) 2, Y

Pener 1Z 2 T2 N~ () —24 B
Apslogy

Directions: In each of the foliowing questions. there is 2 cenain
relationship between \wo given words on one side of © ; and one
word is given on another side of 5 ¢ which another word i 10 be:
fognd from the piven alternatives. having the same relation with
this words of the given pair bear. Choose the comrect alfernative.

Food : Stomnuch 7 : Fuel: 7




1.3 Cizgsification:

Dhrections: In each of the following questions, five words have been
given, out of which fous are alike in some nanoerond the  fiftk one &
dnffercm Choose our the odd one. S .

(@Dog  (dyHorse ()Coxr - (d)Cat - () Fox
{2} Tomate (b} Comot -(c) Gmmcr (4} Potater  (2) Turmeric
{a) Chicken (b) Smake - (c)Swan (9 Crocodite () Frog
{@Tall  (b)Huge (& Thin . (d) Sharp (o) Small

“ (@) 8eal (b Scomion{c}Fish  (d)Car - (¢) Livn
@) Zine (b} bron (c) Atuminuni {d) Copper {e] Mercary

?MPPP?

Answers
. (e} Al except Fox are- dunmuc animals. whale fox isa wild animal.
(#) : A except Tosmato grow wnderground,
t5) * All except Chicken can Yive in water.
() : AJl axcepe Sharp ore related to dimension,: :
{a) : AH except Seal sve creatures miatedtossgmofmdlaa
(e} : Mercury is the only fiquid metst in the proup.

1.4 Coding-Decading
t. 1 POND is coded a3 RSTL. how is HEAR weitten in that code? .
@GHTY {mGHIZ (a3 NGL () ZCLZ (e} None of these
2. In a certain code, TELEPHONE tsm&mnﬂﬂom How is
ALIGATOR written in that code?
GIROTAGEA (B) ROTAGAIL . (¢} ROTAGILE (d) ROTEGILA

O W B b

A P S T R

3.In & cemzin code, INACTIVE is oritten a8 VITCANIE, How is
COMPUTER written it the same code?
(2) PMOCRETU  (b) ETUPMOCR (c)tﬂ’EMOCR {d) MGCPETUR
4, Tn 5 ceriaio code, CAT it writien 23 SATC and DEAR iz wrilten a5
» SEARD. How would SING be written in the same code?
(a) BGINS © {H) SGNIS {c} SINGS {d) ONISS
5. If SYSTEM is coded a8 SYSMET and NEARER az AENRER, then
FRACTION will be caded 2y
() CARFNOIT (b} NOETFRAC (4] FRACNO - {d) CARFTION

.

Angwers

i {cy The rrrst.- mmd- third aad fourth 1efters of the work are moved )
© two, four, six and eight letters forwand respectively o obtain the 3
"2 (a) The leiters of fhe word ard writlen in 2 reverse aedet to oblais the




[ ]

{5y All the lences of the word, excapr the lass Ic:nr.r. are wrillen in 2
reverse ordes 10 obin te code.

4 icv:  The first Jener of the wordumnwdiaﬂwlaﬂpmm's' is
pleced at the beginaing. i form the code.

() The Jetters in the first half and second half of the word aﬂ: writien
it the reverse ordes to (Bbtain thr.cnde

1]

15 D:rutlnn sense fest

), Kam walke northwards. After a whxlc. he tums fo his rfight and & litthe
further to his lkeft. Fmally shier walking 8 distance of one kilomeles, he-
turms 10 his lefk again. In which direction is he moving pow?

{a) Korth (b3 South ey East {3) West

2. A men walks } Km towards East and then He koras to-South and walks 5
km. Agsin he nurns 1o East a68 walks 2 km, sfier this he turas 1o North
and walks @ km, Now, how far is ke front his starting poimt?
{2)3kim {by4 km b5 km (d} 7ion

3. Raj traveled from = point X straight o Y at » disisnce of 80 meters, He
sorned right and walked 50 meters, then ngain turned sight and walked 70
meiers, Finally, be Rarned rightang walked 50 meters. How far is bé from
the starting point?

B im M2W0m 30w (HT70m (cyNoneof e

4, Laxman went 15 kms to the wegt from my hovse, then jorned Jeft and
walked 20 kms, He then nomed Bast and walked 25 kms and finally
tarning Iefk covered 20 kms. How fir was he from his hovse?

{a) 5 kms (b3 $0 kms {c) 40 kims {d) 80kms

5. From bis houst, Lokesh went 15 kms to the North, Then Be nimed Weat
and covered 10 kms. Then, he twrmed South and covered 5 kms. Finally,
turning b East, he coversd 10 kms. Ia which dlr&:nonaa ha!'mmms
houze ?

{a) Eant ) West _ ¢ Norh - ~ {d) Seu




Answer

Ledi: The movements of Ram are o9 shown in . g

Fig. 1.
Clearly. .he is finally waikmg in the o £1km
direction DE i.e.. Wast, ' & .
. i > s
a
l"‘ig._la
Zich: The movements of the nan are g3 shown AE &
inFig. 2. {A 0B, BtoC.CtaD.DlaE! S
Clearly. DF = BC =5 ke, < g
EF = (DE - DF} = (9 ~ S km = 4 km SOiE
BF=CD=2km. f-" ' -
AR= AR +BF=AB+CD=(!+Dkm ALE F
=3 km 1 kny - E
= Man's distance: from sktarting point A Rl
= [ (AFSEF va S
:f(_:’ié')
= /5 c oY
=3 km Zkm -
Fig 2
3(a}: The movements of Rajaceasshownin , ©  8m v
Figl.(XwY.YwAa AwmB Bood. P
< Raj's distance from the siartiag point s 1 §
= XC = (XY - YC} = (XV - BA) _
=80 ~-T0hm=iCm. 8 Mm A
Fig. 3,

44b): The movements of Laxman arc as B Emg
= eere——— s —

shown in Fig. 4, T

. Lagman's distance from his house atA  E g
= AE =(BE~BA} 21 8
e (CD~BA) -

={25-15)m=10m —




542): The movements of Lokesh are as
© showninFig. 5. (A 10 B, BioC Cw
D and D o Ej. .
Clearly, his final position is & wh:ch is
10 the North of his bovse at A.

Fig. 5.

1% Asserifen and Reason

Directions: In each of the questions given below, lheré are two
statements lalw.ieﬁas&sseuion (A} and 'Reason {R).

Mark your answer as pex the éodes provided below:

{a) Both A and R ar¢ true and R Is the carrect explanation of A,
(b} Both A and R are true but R is not the comect explanation of A
)  AistvebutRis false,

4} A s false Bt R is sroe,

¢}  Both A snd R 7oe false,

1. Assertion {A): Alcobol rather than mercory is used in 2
_ therrnomeler $o measure a iemperature of — 60° C.
Reagon (R) :  Aleohol has a lower freezing point than mercury.

2. Assertion {A):  Saltis sided 1o cook food at higher altitade.
Resson {R} ! Tempersture s lower &t higher altitudes.

3. Asserion (A):  Carbon monoxide when inhaled causes death.
Reason (R} ;  Carben mosoxisd combines with heamoglobin,

4. Assertion (A): Wi feel colder on mountains than of plaits, -
Reason (R} @ Temperature decreases with a]tiiuei o

5. Asscrtion (A3 Inside the earth metals are present in molte:: state,
Reason R} : - ‘Earth absorbs the stm's rays. - :

6, Assertion (A): Therei |s_m vmm for MDS.
Reason (R) @ Tisk ATDS virus changes its genetic code.




Auswers : - .

L{a}:  Mercury freezes at ~ 39" C, while aleohol freezes ot a point
for below - 100° €. So aleshol is used to maoaswre lower
temperatures. Similaly,  mercury boils at 357° ¢ while
alcohol bob. ar 78* C. So. mercury is used to measure high
tzmperatures,

2.{6):  Due to decrease In pressure at higher altitudes, waver boils
: much below 100° C. 30 that the food does not get sufficient
heat for deing cooked, Salt incregses the bailing point of

" waler.

3. (2} Carbon monoxide, whea inhaled, combines with hemoglobin
of blood to form carboxyl hemnogiobin which inhibits the
ganspori of oxygen, . ' o

e

.43} mghermwmmm.hmm&mmhcm
af 1°C for cvery 165 metres of ascent making mountdin
-peuks colder.

S.6ey: mmmemm&e‘mmmmwmmm'
metals in oalien state. The casth does a0t absorb the sun's
suys bt reflecis them.

& (8} : Ammmmmmo&ﬁm. But
the ATDS virus changes it genetic code ang 50 no vaccine
has been inventad for it

1.7 Sitwetien Resction Tese

L. ¥ your friend asks for some mouey from you, you will
{8y tefusetogive
(d)  ack for what purpase the money is required snd then decide
{c) wmmediately give the momey withotil enquires about e

52
~ [d]  None of these

2 In o bus you reafize that someons hag left histher wallet, You
wonld
(a) ~ give the money 1o the beggar
by  bhand it over (o the bue conductar .
{&) vy to find hisher contact anmber and inform the owner
{d} leave the walleras itis




you have raede. some silly mistakes which have heen pmmed ot o

you. You salf

(a}  langh i away

(b} gecangry

{c}  feel ruiscrabie

(d)" feel shankful

Your classmale, who got ¥ou in a fix rcu:nsty witha teaaher has

mst with an accident. You

{2}  carry on with life unaffecied

(b) feel that God umpht him/her 4 lesson

{c} . decide to visit himvher in the hospitat '

@ - ten;;fo(hers that, this is the way one safférs for making oihers
suffer .

Af‘ﬁ‘er & prrchase the shopkeeper zetums Re. 100 exira to yoa. You

wil :

€2)  fecat your friends to 2 Junch ' :

(b) offer Rs 20 gt a lemple and pray for more sch instance

(ci  buyanother and hope he will give anothez Rs, 100 exira

fd) retom the extry mncym lhc sbopkcepa-

L k7)) .4“"'1. 5

2 (c}

"

Caumnf&cﬁon ,

Directions: In each. question below is given a statement foilowed
by ipw conmses of action numbered 1 and T, Vou have o assume
everything in the sttement to. be true and on the basis of the
information given in the staiement, decide which of the seggesicd
tourses of action logically follow (s) for porsuing. -

Give 2aswer (%) if ooly § follaws: {b) if onty T fellows, (¢} 1¥ cither

I or W foliows: (d)if mnlhar I not 1 fo&lows and {e} |f Imth Yand

T faliow.

1. Smterment | There hos been a significant drap in the water fevel of all lhc .

takes supplving water 10 the cily:

Courses of * | I. The water supply authority shouid impose 3 par:za! oot in
action | supply 1o tackle the situmiion. . :

1. The government shauld appeal fo =il the res:dems thagh

_snass media for minimal use of water. -

3 Statcmem On an average. about twenty people are ron over by trains

and dis everyday while crossing the rmlway tracks through




Cowrses of |1 The miiway authorities shau}d be mstrut:ted 1o ciosc all ihe
action leve] crossings.
11. Those who ars foond crossing the tracks, when the gstes are
cloped, should bz fined heavily,

3. Stmernent | There is 2 sahetantial increase in the sumber of accidents
causing deaths and severe injuries due o malfmctioning of
the raffic shenals.

Comrsesof 11 The traffic police should |mmadmel}' post. traffic persornel

action # e unetoas,
1. The signal sysiom should rmmsdimiy be repmmi or
teplaged,

4. Stateroent | As many u¢ ten coaches of z pamsenger wain have devsiled
anpd blocked both' paivs of the railway tracks.

Courses of | 1. The rallwey authorites should immediately semd men and

action ¢ stwipment to the spot to cear the milway racks.
FIL AR the tpins ronning in both the directions shovld be
. - divenied i other rowses.
3, Statement | Wlost of the development plans devislop in papers piily
Laurses of I-'ﬂwm:&a:geeslwﬂdhcmuuﬂedmmpﬂwseﬂmﬁeld-.
action work regularly,
' 7. The supply of paper 1 angh departments showld be s:utJ
_ short.
| AmSWers ] : o .
Lie: The situation cas be tackled by periodic cuts in supply, and
‘ utging peopic o conserve waler. So both the courses
Fotienw.
2.¢b): The accidents ean ciearly be prevented by barring people
: femm crossing the iracks when the gates are closed. So. only
_ 3 Foliows. _
3.4} - Clearly,  either ‘the traffic signal: shouid be made i
) function property or affic personnel should be deployed to
gaide vehicular movement in the right way. So, r.rih:r ! o it .
) foliows, .
4. (&) The simmion demands first. davemng. other ms o
| different toutes so a5 10 avert gny accident. and chen
clearing the tracks 3s soon as possible. 'Pbus, both the
y ’ coarses follows. ;
S.{a):- Cledrdy. proper supervision alone can see {he d:veio-pmem

in prawca So oniy course. }fnlkm-s
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2. | Numerieal Reagoning Tesr
2.1 Serieg
Directions: In zach of e following questions, & number seres jy
given with one. term missing. Chaoss the correct allermagive tha wil]

| eontinue the same paern and replace the question mark in the given
SETIES..

LO0L825,48%121 . .
1Y {b) B} (51| - {d) {00

2 4.7.12,19,287 .
) ()30 {36 3 - {6} 4%
30 0513,17,489, 23,28, 7 _ .
@w . 27 {c) 29 ) 37
4, 5.t2,30,1.48 _
(2) 33 , {b} 38 48 - . (dyds
5 259701 '
(a} id {15 {c) iR ]
Angveery ’ .
Lo b} : The given wriez consists of squares of consecative odd
Illimhﬂﬂ E‘-ﬁ. 13‘ 3’9 510 ?1. e
So, missing tenn =97 = 31,

2. ©): Thepatern is « 3, + 54 7,49, ...
So, missing erm w28 4 1] w39,

3. (o:TMhepatiemis+2,+4,+ 2 +4, ...
5o, missing tecine 25 + 4 = 29,

4. ta;:‘memmma.-s-s.uz.n&,....
So, missing term = 21 ¢ 12 =33,

3 (@) . The patienis ¢ 3, +4,+ 5, + 5, ...

" So,missing ietm =245 = §4,

23 Anslagy ’ . . ]
Directions : In each of the following questions, them it 3 ceriain
telationship between two given nnnthers on ooe side of : : and one
Rugsher is given of anather side of ; : while anather number it to be fopnd
framn the given sltematives having the same relationship with this ramber
it the numbers of the given poir bear choose the best alternative.

L. 42:56::72:1

(081 9] {z)92 {d) 100
L 49:81::100:9 .

(2} 64 {by 144 (&) 169 " (d} Nome of these
. 8:80::100:7 S

(3901 (3} 1009 (c)9888  (d) 9989




4. 7584:5362::4673:7

(2) 2367 (b) 2451 {72535  {d) Nowe of these
5. R265:4376::4673:7 . )
(@254 - (b)2562 - (o) 5487 (@ 5784

- Answers

-~

() : Clearly. 422 6% 7:56 = Tx 8: 722 §x9.
So rigsing rumber=9x 0= 90,

2. (b): Therslationshipis ¥ : (x+ )2,
3. {d): Therelationshipis x: (X~ 1),
4. (b): The relationship is < : (x — 2227,
5. ) The relalionship isx : (x4 3! 1)
2.3 Ciessificetion .
. © Directions : Choose the odd numersi pait/gronp § in each of :he Toliowing
questions :

Lia) M43 @) 55-62 (0 62-73 (6} 83.92
2{a)2-1 By 3-27 = 4-32 & 5-125
3.{z} 80-2 &) 64-8 {c) 36.6 (@ 7-49
A4.{g) -0 &b 3-8 © 6-35 @ 7-5

AnFwers ) - ) :

L (% Inall other pairs, second umber is § more than the first:

2. {c}: In ol other pairs, second mymber is the cube of the first.

3 fa)n mmmmmmﬁmmmm the oihear.

4. {d):in alt other pairs, the sum of two mymber i5 3.

5. ) 1o aff other prits, the second aumber i8-one less than the
square of the firyl namber.

2.4 Ceding ~ Detoding

In @ centain code, mgwomnEALascodedasaa-..-l-lﬁ:

Following the same rule of coding, what shonldbclhccud:fm the
word LADY?
{a} 12-4.1-35 (h) 2: l-é 25
e 10-1-4-23 - (&) - 10-1-4-2
2. HA=ZMa262=501epBET="? -
LA AL b M ) & ) T
3. HA=26.SUN=27T. then CAT &? :
(). M by 37 ) 57 B SE .
4. " if in  verimin code, BAT = 23 and CAT = 24, then how w'lI Vot
" code BALL?
Gy 27 ) 28 (o 2 @ 120




i
;
;
i
3

5. WGO =32 SHE = 49, ihen Sﬂkfﬁmlibcumalm
) 56 By 58 (¢} & (@

ANSWErE
I ib) : Clearly. zach letier is coded by the nameral denating its pa-swnn in
the Engiish atphabet. )
Thas. Aiscodedas L Bas 2, Cas3, Dasd, a Lot 2 Mas 13, . Y
as 2572 as 36, 8a, the code for L-ADY i512- ! -4 =25,

2 (b): Cleariy, cach fetter is assigned a namerical value wtuch :smzicemn_
namers! denoting its position in the Boglish aiphabet, o
B.Eand T are 3% §* and 20" lewers respoctively.
Sa.BET=B+E+T=(2BN+(52+{ WP =54

3 (&) : Cloarly. each laiter is reprosentsd by the numerical denoting s
positicn from the end of the English alphader fe. Z=1. Yol . M=
i ., B=25A=26
Then, SUNaS+U+N=8 +6+ 13 =27,

So, CATa2C+A+T=24+26+T =57,

1 {=): C is one step shead of B and the code for CAT is | more than that
for BAY. Thmdwhtmmmcadedhynnmﬂs&mnsdﬁwmﬂom
inthe English alphabot ie. A =1,B=2,.., 2226
So0.BalL=8+A+L+L =2+1+12+12 =3

{a): s the givencode, Z=1, Y =2.X=3,..C=24,8=15,Z=26,
50,.00=20412=32and SHE =8+ 19+ 22 =49,
Similaly, SOMB =S+ 0+ M+E w8+ 12+ M+ 212256

Er )

285 ¥Height and Distance

I.  Ywo ships are sailing in the se2 on the twe sides of 2 lighthouse.
The angle nfelmhm of the top of the lighthatse is shserved from
the shigs are 30° and 45° respectively. IF the lighthouse is 100 m -
high, the distance between the two ships is
Wilm - {(B1200m {c)273m () 3IG0 m

Answer; Option (¢}




Explanation:

Lei AB be the lighthouse and C and D be the

-positons of the ships. '
Then. AB =100 m. £ACH =30 °and £4DE=45"
E-L4 .. —ABx+3 = 10043
.‘CelanBO 7 = AC=ABx«~> =100/3m

.E%:Im4s°u1~_-,w=an =)m

SCD=AC+AD) = (100324 100 m
. : 100(43 + 1)

- =[I00P2THm
273 m.

#

¢ A D

2. A man sanding @ & point P is waiching the top of a tower. Which
raskes an angle of slevaton of 30° with the man's rye. The man walks
somse distance towardy fhe tawer 16 oaich e top and the angle of the
elevation becomes 60°. What is the distance between the basc of e
tower and the point P2 . '

g} 43 nnits {b1 § unils {¢) 12 units (d) Dara inadeguate
Answes: Option (d)

Explanntion:
Onpe of AB, AD ané CD must have given,

3!

% . g . £ AN
So, the data is inadeguate. S
3. The angle of eievalion of Jadder feaning against 2 wall is. 60° and the
foo! of the tadder is 4.6 m awsy from the wall. The lengih of the-Tadder
is: : - o R
{2323 m by 4.6 m €2 78m To(&%2m
Answer: Optiorn id;

R A e e




Exp!anaio'n:
Let AE be the wall and BC be the ladder.

&

'nm. aca:ﬁe‘m AC. =46m
cusﬁ(}’a -
BL=2xAC= uzm.s)m-nm.

4. An observer 1.6 m lnﬂuﬁb&awxy&umam The angle of
eievation fram his eye to the top of the tower is 30°, The heights of the

tower is .

{(a)2t6m {(WHBIm {2 m {d} None of these
Answer: Option (2}

Explanation: ;

I.aABhemecbwnerdeDbememu.

o
,;.‘}300 . E )
= ;
@ - g
e 203
A — i 4

Draw BE LCD Then, CE = AB = 1.6m, BE«AC=203 m.
BE, ' =t - =
B tan 301 :E.DE 03/ im=20m.
SCD=CB+DE=(l6+20) ma=2{6m




5. From 2 point P on a level ground, the angle of elevation of the fop tower | -
is 300. If the rower is 100 m high, the distance of point P from the foor

of the toweris:
{2) 149 m {h) 156 m (£} [73m {d)ZO(}m

. ' Answer ; Option ()
Explanation: :
Let AB be the sower.

A

Toen, <« APBE=30°and AB = 100 m
- o !
u/‘;P—mﬂm ’:75

AP=(AB x/T}m, = 100x /3 m, = {10Dx 1 73) m=173m.
26 Arithmetics] Reasonlug
I, A shepherd had 17 sheep. All but nine disd. How many was he lefi
with? .

{a) Nit (138 i) 9 (dy 17

2 A erdmocterwasaskedmwmnybmismmdmtha bag. He
: replied that there were ass sparrows but six, alf pigeons bt six, ang %
all ducks but six, How many birds he had in the bag in afl? . %

i

E

s - (byi8 &% {d) 36

3. What is the ematlest number of ‘ducks that conid swim in this _
© " formotion ~ o docks in fronl of @ duck, two ducks behind a duck
and a duck between two ducks"
© {=) Nit fh§ RN (21 (‘1.‘ 17

4. The 30 members of a club decided to play a badminton smg!ex_ '
tournament. Every time 2 member foses 2 game he is cut of tie
tournament. Thers are no ties, ‘What i lht mininum number of

" matches that mast be played to determine the winoer? .
tayl15. {bi 29 (clél {d} Nane of these




i

- A man wears socks of rwa golours ~ biack and brown. He has
altggether 20 bluck socks and 20 hrowm socke in a drawer.
Supposing he has o take out 1o secky in the dark, how many must

- e ok oud vo be sure that I has 3 maching pafr?
@3 20 {ey 3% (¥} None of these
Ansvers
Lodek All bur nine dind means AR except oine died e 9 sheep
remained afive, :
Iy [There were all sparrows but sy’ means that six Dirds were not

spyrraws dud only pigeoes and dueks, :
Similasly, number of sparrows + nuber of ducks = § and nember
- af sparmows + sumberof pigeons = 6.

C A ta: Clearly, the smallest such wmber is 3. Three ducks can be arranged
as shows ajongside to satisfy all the thite given conditions. D]

o

D
K .

4. (b} : Chearly, every member except ane 6, e, the winner) mst lote one
£ame ¢ decide the winasy, ﬁmmmmamm%uofmmw
be played = 30 - 1= 25,

3@ Smmmmmmcksaronlytwams'suiwcmafmym
mcksmalwaysbcoflhemwlm

3. NomVerbat Reosoning 'Fest

3.0 Serles

Directions: It ench of the foliowing mﬂmwamﬁ&m
figmes tabeled A, B, cmnwmmmmmnmw;md
five other figures labeted £, 2, 3, 4 and. § called the Answer Sei. Big. {O)
coutaims @ question mark. Select a coiteble figure from the Answer Set
which will substimte this question mark so that & serics is formed by the

figures A, B, Candbtzkeuman:ler ‘I‘henumb:mfﬁwselmdﬁgnmm
‘the answer,

=t




3.2

Directions: Each of the folhwﬁg- questions consists of two sets of

Answer Set that would replace: the question mark (%) in fig. (D).

B R T AR RE T

PROBLEM FIGURES ANSWER FIGURES
< ) g 3
a

W) (A

A 4 %

€.

»

=

-3

L (3): W zach swp, the figure romtes 90° CW: moves 10 the
adjacent side of the square bowndary in 2 CW direction and a
acw larger semicircke is added owside the  existing
semicircles. :

1. {(1}: Inone step, on arrow pointing dowgwards and a pin poinling
upwards are added 1o the RHS of the existiog elements. In
the text step, 3 pin pointing downwards and an amow
pointing upwards are added to the RHS of the existing
elcments, _ n

3 4}z In each step. she pair of bne segmenis rotates 90° CW it

TOvEs 1 Ihe adjgeent corner (of the square boundary) in a

CW direction:. the symbol moves to the adjacent comer in o

- CW dirccrion and geis replaced by anew one, - -

4. {3: The number of fines snd the dimber of dots ducrease by one

- " aemansly. _ ' '

. Anslopy .

figures. Figurex A. B, C and D constitus the Problam, Set while

figwres 1,2,3, 4 and 5 constiine: the Answer Set. There isa - definile

_relationship hetween figures A and B. Bstablish a similar ‘relatin:ship

betwech figures Cand D by sclecting a suitable figure  from - the :

e




H
H
i
H
H

T i B

2

PRE BM FIGURES ANSWER FIGURESR
L RT e e
M E( 2] e
: & . {
A 8 ol b i
[T 2 v 1% HiO 2
] & soo6l ?_ "% e si
L o 12 21T FEE FL O
a 1 2
3 e :
. K%
A [ 2 & & 5
J _( n ...r \|§\ d .-'R: T § ﬂ
s, § A :
A B c D i 2 3 & 3
5.
} =l 9
A 5 [ ) t 2 3 4 3
Answers
. (2)}: Thefigure gets vertically inverted. .
. % [2}: The complete Hpure rotates through 18F end e
that reaches the position cotates. fumtbar by 90w,
3 (3}: The figure rolaies throush $0° ACW,
4 (2 The four parts # the outsr ends of e Hgure o ot
5. (3): The inner element enlarges o berome the ooy clement
while the auier element reduces in size mmme biudk zad
becomes the inner siement.
1.3 Classifieation

Directions: Tn 2ach probleny, out of the five fignres marked (23, {bh.
(¢}, {d) and (g). four are ximilar in a cortaly vwnaer. However one
figure iz not like the othar fonz, Choose the fignzs which &5
different from the rast. '




ol i YW il W
UEENUHQJIW
ia} {by {cy i {€)
& .
{a) . () - (713) []
G ,"" LR © '_ B :

ENGH Thelwadmﬁean lhesamesldeoﬂ Hlednaganal onlymﬂg(d}
2.(dy: . In alk-othars figures, tha!wodnubl:asidedmuws mlersactaach
other at right angles. L
3. {c) : Only in fig, {c), Mautofmefnurebrmntsaremninginmesm '
. directions, - .
4. 16) 1 In each one of the figures, mp!ﬁgmxmembardsHSInme-
. imwehrnmmanemom!hanthemmbwufshasmhcm o -]
demanis :

5. (b} : Eath one of the Nigures except g, {b). mlmofﬁvearrwmads

@

T

A




FCLTTITE PEDREE

3.4 Watsr Imeges

Directions: In each of the follewing questions, you are given a
combination of alphabats andfor mumbers followsd by four altemativas (a),

s vt st B s U

{b). (¢} and (d). Choose a alternatives which mast closely tesemblas the %
water fndges of the given combination .
1. USO1Q4MEW3 |
(a) N2BICNRME {5) NM2BIDINRMI
(c) 12BICRINRME () N2BI0NEMI
2. ‘monday - |
(a) yadnom m){asbnom
{c) Aequows {d) wougEA
3. rise
(a) MBe (v) esir
O -- I {d) agh
: 4. wrote o
g (a} wiola (£} M08
(c) Miofe {4} MO8
5. bridge . '
(@ pnqle (b)PHgQs
{c)puabe {d)pupds
: Answers 1. {d) 2. LN 4, (0} 5. (B)
3.5 iatnix-

Directians: In sach of tha following gquestion, find out which of the
answer figures (&), (b), {c) and {d} completes the figure matrix ¢

-

.







Emh

ADSWes

H

il

1%

13,

{bi : Tn each row. the second figure 15 obtained from the first
figure by adding two muiually perpendicular ling scgments a1 the
centre and  the third figure is obtained from the first ﬁgure by
adding four circies owside the makn figare.

_fa): Each row fas well a5 each column) contmns a figure
) mnsustmg of a circle and two conmsung of 3 circle and four line

segaments.

- (d): In each raw, the second figare is obrained by removing the

outermost element of the first Rigurs and the thind figure is obiained
by remaving the outermast element of the second fgure.

(¢l - . Ineach column, the second figure (middle figure} is obtained
by removing the upper pant of the ficst figure (uppecmost figure)
and the third figure (lowennost figure} i obsined by verically
inverting the npper part of the first fipure, '
{c}: In each row. the third fgure is 2 collectipn of the common
¢lements (fine segments) of the first and the second figures.




